AZURE MUTFAK BATARYASI 1/2" FLEX - 15684431

9

|
|
GR. PERLETOV -
13010491

190
8 o
S
S
! 3/8"
\ 3/8"
|
|
|
|
|
|
|
|
|
|
\ Alt Taban GR.
|
| 13680141
|
|
|
|
|
|
|
|
|
|
|
|
|
[ & 21| 1 [Boru Nipeli 3/8° 12011340 3/8 CuzZn39Pb3
! lil“ 20| 1 [DN25 Teflon 12600160 1” Teflon
| e 19 1 | Setuskur 12010490 M5x5 AISI-304
} £ 18| 1 | Bice 12011290
| Sl 17| 1 [Setuskur DIN 915 12200090 M6x8 | AISI-304
\ ‘-’0:0: 16 | 2 |Flex (42,5cm) 13080200  |m10x1—1/2"
fffffffffffffffffffffff 4 (K 15| 7 [Somun 12010550 M8BX15
lilﬂ}:::::: 74 | 1 [Saplama 12080300 M8X80
Resi[ooon 13| 7 |Tespit Plakasi 12010520 M8 NBR
16 g.:.::::::: 12| 7 | Tespit Plaka Contasi 12010530 M8
el 11| 7 |O—Ring 12030780 |#40,95x2,62| NBR
S 70| 7 [Taban Rozefi 12680031 50x50 CuZn39Pb3
KR 9 | 1 | Perletor Gr. 13310121
g.:.}ﬁl]] 8 | 2 | 0-Ring 12300160 915,52X02,62| NBR
S — 7 |7 [ Sabitleme Teflonu 12300200
Kl | 6 | 1 |Cikis Ucu 12680041 Cuzn37
&:::, 5 | 1 | Kumanda Kolu Gr. 13680011 Zamak
m.]] 4 | 1 [ Kartus Rozeti 12010381 M37x1,25 | CuZn40Pb2
n;&)“ 3 | 1 | Baski Somunu 12010150 M37x1,25 | Cuzn40Pb2
JJ 2 | 1 [ Ayaksiz Kartus 12010110 235
7 | 1 [Govde 12490171
e Sira [Adet| Parca/Grup Adi Kod No Qlca Malzeme




